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& 200 M2l
2t 210 BA XM=
g 212 AHEE2 ¢ (AR :HR)
Ao @ioEios Ol At oH &3 & 0f Ahod Hlns2
ES Al 15,500,000 10,300,000 5,200,000
200 Ml2l=+=¢ 14,803,400 9,349,000 5,454,400
210 24 EAN 2+ 2,046,996 173,220 1,873,776
212 A28E2Y 110,000 102,000 8,000
212-08 JIEFAIEZ 110,000 102,000 8,000
<WS#EEYL > 110,000
OAUHA SEXDX AIZR2(FIE) 110,000,000& 110,000
214 A =¢l 1,825,000 0 1,825,000
214-02 =32+ 1,825,000 0 1,825,000
<usdHFY > 1,825,000
OANU s BSE=XE 800,000, 000& 800,000
OE4dd = =2 sEF=xE 380,000, 000& 380,000
OFEZHANEY L& SEF=IHE 35,000
-0 6,000,000& 6,000
-2 g 29,000,000& 29,000
OsEAY Lo BEFIH 29,000
-0 14,000, 000& 14,000
-2 g 15,000, 000& 15,000
OUHAIE o BE=IH 12,000, 0002 12,000
ZSHAE L2 SEFIHE 6,000,000& 6,000
Oak k2 SEF=XE 7,000,000& 7,000
Oz L2 Sg=xE 12,000, 0002 12,000
OFSZANE &2 s8F=xE 300,000, 000& 300,000
SEAEHEY Lo SEFIHE 230,000, 000& 230,000
SEANE L2 sg9F1E 14,000, 000& 14,000
216 Ol Xt=¢ 111,99 71,220 40,776
216-01 230 =0l Xt~ 111,99 71,220 40,776
<usS#FD > 111,99
OS3030I XM= (ZAS) 111,996, 000& 111,996
220 LA EALA2=E 12,756,404 9,175,780 3,580,624
222 A= 3,150,000 1,290,000 1,860,000
222-01 =MIAHL = 3,150,000 1,290,000 1,860,000
<usdHFL > 3,150,000
O AW SAY 150,000, 000& 150,000




200 M2l
2t 220 LAIEAHLAA
& 222 2042 (A2 H=2
Ao @ioEios Ol At oH &3 & 0f Ahod Hlns2
OFXHE ALY 3,000,000,000& 3,000,000
224 M=z 5,700,000 2,830,000 2,870,000
224-03 JIEIS|I HE L 3 5,700,000 2,830,000 2,870,000
<usSHFY > 5,700,000
O AMUSAIY LB H H3 700,000, 000& 700,000
OFXEAY 5,000,000
“SAIHEA(10%) LESH de3 16,400,000, 000& *10% 1,640,000
-LES| | MY S 3,360,000, 000& 3,360,000
227 2= 590,000 1,341,500 AT51,500
227-02 Lt = 590,000 1,341,500 AT51,500
<uUsSdHFL > 590,000
O ZI=INE U= 12,000,000& 12,000
OdA== BEF=XE 4XHlE 8,000,000& 8,000
OUERLRLZ(ZANE) 570,000,000& 570,000
228 &Y 2,025,000 2,364,200 A 339,200
228-03 MEHH = 1,970,000 2,285,000 A 315,000
<usdHFL > 1,970,000
OF&I2e HEHS(ZANES) 1,965,000
-g+ 648,000, 000& 648,000
-23 1,317,000,000& 1,317,000
OUAUTSA S+AIEY 22 BEH2(ZALS) 5,000,000 5,000
228-04 HESLOIHZHS 55,000 79,200 A24,200
<usdIY > 55,000
OYRXYg HAZ(ZARS) 37,000,000 37,000
OStsXsi 2AEE At B (ZALE)
12,000,000& 12,000
OGASI S+AEY 218 BAS(SAWS) 6,000,000 6,000
229 Ndd ¢ 1,291,404 1,350,080 Ab58,676
229-01 NtE =+ 1,291,404 1,350,080 Ab58,676
<uUsSHFYL > 1,291,404
OXNHHEE =AU HEHS(SALS) 1,268,404
-g3 483,000, 0002 483,000
=7 785,404,000 785,404
OXNHHEE SI2NSA AL ERAR B (ZALE)
12,500,000& 12,500
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